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Report of Quiz 3 

 

1. Summary 

 

 Number of Students 

Total 136 

Attended 123 

Missed 13 

Makeup 0 
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Average = 7.4 
Stdev = 2.2 
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2. Comments 

1) Forgetting to answer for the location of the force components 

2) Using incorrect formulas or values for finding the location. Some students 

recalled the correct equation, but used completely incorrect values for the 

variables. 

3) Including an additional force in the calculation of the vertical component 

(i.e., Fv = F1 + W instead of simply Fv = W) 

4) Using Fv = PA instead of Fv = W for the vertical component 
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